	 
	Kyn/Trp ratio

	
	All
(n=56)
	ST
(n=14)
	ART-naïve
(n=14)
	EC
(n=14)
	HS
(n=14)

	IL-1β
	p = 0.2920
	p = 0.5175
	p = 0.6616
	p = 0.9581
	p = 0.3663

	
	R = 0.1433
	R = -0.1890
	R = -0.2185
	R = 0.0155
	R = -0.2616

	IFN-γ
	p = 0.4320
	p = 0.0932
	p = 0.7889
	p = 0.9271
	p = 0.4804

	
	R = -0.1071
	R = 0.4659
	R = -0.0788
	R = 0.0103
	R = -0.2057

	sCD40L
	p = 0.0028
	p = 0.5645
	p = 0.0270
	p = 0.3685
	p = 0.0435

	
	R = 0.3916
	R = 0.1686
	R = 0.5880
	R = -0.2604
	R = -0.5457

	TNF-α
	p < 0.0001
	p = 0.8787
	p = 0.9259
	p = 0.1090
	p = 0.3174

	
	R = 0.5312
	R = -0.0471
	R = -0.0274
	R = 0.4471
	R = -0.2884

	IL-6
	p = 0.0020
	p = 0.3145
	p = 0.3662
	p = 0.0090
	p = 0.3748

	
	R = 0.5312
	R = -0.2900
	R = 0.2616
	R = 0.6684
	R = -0.2571
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